520 Munsell System Y, =100
7 NM,..C=2, V=1, 2,5, 8 &9, Mex
migstohe chromaticity diagram (x, y)

Xw=96,79,Y,,~100,00,2,,~111,46 BD
x4,=0,3140y,,=0,3243 1 f&
Ao= @0~ 8o + 20,y + 20D Vi (VYag

Bo = (B ~ [bo,n + oy * bo,al) Yag (Y/Y2g) 23
ag = ayg [Xty] 1

by = bao [2/4]
ay =1, byp=-0,4
Y . WA
} } } b
n = Mex -10 10
2628 ag,y=agy(Y/Y1g-1) MX
9%95¢,E b, y=boy(Y/Y1g-1)
apy=0,021,b,y=0,023 T
ag A=—0,030,by 4=-0,030
CIE 1931 X Munsell System Yy,=100
0 C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 04 0,6 0,8 10 chroma (A*g, B*()
CE001-1A_6 CE001-2A_6
Xu=96,79Y,,=100,00Z,~11146 B, Xy=96,79,Y,,=100,00Z,~11146 B,
%=0,3140y,,=0,3243 19 %y=0,3140y,,=0,3243 118
A1 = (a1~ [agn+ayy +ay al) Yig (Y/Yy Ax= (@~ [ant 3y +apal) Yig (Y/Yy
By = (by — [byn+byy + by ) Yig (Y1113 By = (0~ [bzn +bay + bpal) Y1g (YY1 13
ay = ayp [(x-0,17D/y] ap = ayo [(x=0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mr1=1,000, 1 mp1:—0,169,bE]:0,3§9 : 2
n = Mex 10 n = Mex -10 10
ay y=apy(Y/Y1g-1) ex ap y=apy(Y/Y1g-1) ex
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) 1
ayy=0,021,b,y=0,023 ayy=0,021 byy=0,023
a; 4=-0,030,0; 5=-0,030 a, 5=—0,030,b 5=-0,030
Munsell System Y,,,=100 Munsell System Yy,=100
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*4, B*;) chroma (A*,, B*,)
CE001-3A_6 CE001-4A_6
X=96,79Y,,=100,00Z,~11146 B, X,=96,79,Y,,=100,00Z,~11146 B,
%=0,3140y,,=0,3243 119 %y=0,3140y,,=0,3243 18
A3=(ag—[agn+agy +agal) Yig(Y/Yy Ag=(@g = [aan+agy +aual) Yig (Y/Yy
B3 = (b3~ [Dgn *+ bay +bs al) Y1g (YY1 /3 By = (0s — [gn+byy +byl) Y1g (Y1113
ag = ayq [(x=0,171)y] 1 ay = agg [(x—0,171)1y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay=1, =-04 ay=1, byg=-0,4
20= 1, bao A 20 20 A,

Mp1=—0,974,b,=0,658 9
n = Mex -10 10
a3 y=ay(Y/Y1g-1) ex

b y=boy(Y/Y1g~1)
ayy=0,021,b,y=0,023
a5A=-0,030,b5 4=-0,030
Munsell System Y,,,=100

mp;=-0,169,bp;=0,389
n = Mex -10 10

3y, y=agy(Y/Y1g-1) MeX
by y=boy(Y/Y1g-1)
ay=0,021,b,y=0,023

a4 x=-0,030,b, x=-0,030
Munsell System Y, =100

C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*3, B*3) chroma (A*4, B*y)

CE001-5A_6 CE001-6A_6
Xy=96,79,Y,,=100,002,~111,46 B, X,=96,79,Y,,=100,007,~111,46 B
Xy=0,3140y,,=0,3243 “J:.l% %,=0,3140y,,=0,3243 --]]-_g

As = (a5 = [a5n + @5y + 85 a]) Y15 (Y/Yy
Bs = (b5 — [bs,n + bs,y + b5 a]) Yg (Y1) /3
a5 =y [(x-0,17D/y] 4L
bs=byo [(Mp1x+bp1)/y]
80=1, byp=-04 A

mp;=—0,974,b5,=0,658 5
n = Mex -10 10
as y=agy(Y/Y1g-1) ex

bs y=boy(Y/Y1g~1)
a,y=0,021,b,,=0,023

a5 A=-0,030,b5 ,=—0,030
Munsell System Y{,,=100

As = (85— [ag,n + 8,y + 8 al) Y15 (Y/Y1
Bo = (s = [Do,n + bs,y * D al) Yag (Y/Y1)2/3
ag = g [X/Y] +
bg=bs0 [(Mp1x+bp1)/y]

ay=1, byp=-0,4
le=—0,974,bm=0,6'58 '

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1g-1)
a,,=0,021,5,,=0,023

a5, x=-0,030,05,=-0,030
Munsell System Y, =100

N
n = Mex _10 ) ‘&hﬂJéx )

C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*s, B*s) chroma (A*g, B*g)
CE001-7A_6 CE001-8A_6
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